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Across
  5	 (In algebra) kind of 

equation — resembling a 
square (9)

  8	Uterus (4)
  9	1950s’ youth with 

drainpipe trousers and a 
quiff (5,3)

10	1960s’ youth in leather, 
often on a motorbike (6)

11	 Mould or carve in relief (6)
13	 Knowledge coupled with 

good judgement (6)
15	 Gentle neigh (6)
16	Showing a lack of 

confidence (8)
18	Metal used in galvanising 

iron (4)
19	Dealer in or collector of 

old things (9)

Down
  1	 Dried out by exposure to 

natural heat (3-5)
  2	 Newspaper chief (6)
  3	 Villain (slang) (6)
  4	Neat (4)
  6	Inducing drowsiness or 

sleep (9)
  7	 B, C, D or F, perhaps? (9)
12	 White storm (8)
14	Short-sighted (6)
15	 Do the dishes (4,2)

17	 Pig’s noise (4)
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